M110 Fal7

Precalculus — Worksheet 11 KEY

Worksheet 11 KEY — Logarithm Rules (85.4)

(a) log,(8) + log,(4) = log,
(b) log,(64) —log,(4) = log,
(c) 3log,(4) = log, (4)

(2) logy (M) + log,(N) =

(b) logy, (M) —log, (N) = |log,, (%)

(©) rlogy(M) =

(@) True
(b) False
(c) False

(a) 710g(3)
(b) log(3)

(a) log(2) +log(3)
(b) 41og(2) —log(3)

(@) 6x
(b) 2x +1

(@) In(3) + 2In(x) — In(y) — In(z)
(b) 2logs (x — 1) —>logs(2)

(2) logs(6x)

(b) In(3x%y)
(c) In(x*)

(d) log;(372) =
(e) 2]0g2(16) —

_logz([81]) _ logs,([81])
(f) logy(81) = logs([9])  logs:([9))

(d) log, (b™) =
(e) b'°&v® = [x]if x > [0]

_ |logc(M)
(f) log, (M) = Toe.) forany c > 0

(d) False
(e) True
(F) False

(c) 41og(3)
(d) —31og(3)

(c) 21og(3) — 21og(2)
(d) —log(2) — 41log(3)

(c) yz
(d) 3¢

(©) 2+ log(x) +>log() — ;
(d) 12 — 12loge(x) — 4loge(y)

(d) In (3’; 3)
(¢) log (3=)
(f) log5(10)
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